# RESULT FOR PUBLIC BID RM-111826 OVERHEAD DOOR REPAIRS

#### AREA "A" SOUTHERN TURNPIKE FROM DISTRICT 1 THROUGH INTERCHANGE 9 THE APPROXIMATE VALUE OF THIS AREA IS ESTIMATED AT \$8,500.00 PER YEAR

Α	В		С	D	B x D TOTAL
~	D		C	UNIT	DOLLAR
ITEM	QUAN	UOM.	DESCRIPTION	PRICE	AMOUNT
			RATE FOR MILEAGE		
			TRAVEL		
			TO & FROM SITE		
			AS PER		
1.	320	MILE	SPECIFICATIONS	\$0.50	\$160.00
			HOURLY RATE FOR		
			MECHANIC ON		
			STRAIGHT TIME		
2.	30	HOURS	AS PER SPECIFICATIONS	\$100.00	\$3,000.00
Ζ.	30	HOURS	HOURLY RATE FOR	\$100.00	\$3,000.00
			MECHANIC PERSON		
			ON OVERTIME		
			AS PER		
3.	30	HOURS	SPECIFICATIONS	\$100.00	\$3,000.00
			HOURLY RATE FOR		
			HELPER ON		
			STRAIGHT TIME		
			AS PER		
4.	30	HOURS	SPECIFICATIONS	\$60.00	\$1,800.00
			HOURLY RATE FOR		
Б	30		AS PER	\$60.00	\$1,800,00
5.	30	HOURS	SPECIFICATIONS	\$60.00	\$1,800.00

# TOTAL OF LINES 1 THROUGH 5 <u>\$ 9,760.00</u>

#### THE PERCENTAGE DISCOUNT BOX BELOW WILL NOT BE FACTORED INTO THE DECISION FOR AWARD. THE AWARD WILL BE DETERMINED BY THE LOWEST RESPONSIVE AND RESPONSIBLE BIDDER FOR THE LINE ITEMS BID.

# PERCENTAGE DISCOUNT

PLEASE LIST A DISCOUNT OFF ANY AND ALL MANUFACTURERS LIST PRICE FOR ANY AND ALL MISCELLANEOUS PARTS NOT LISTED IN THIS BID. THE DISCOUNT WILL BE GIVEN BY THE AWARDED BIDDER TO ANY AND ALL OTHER ITEMS PURCHASED BY THE AUTHORITY UNDER THIS CONTRACT. IF BIDDING ZERO, PLEASE MARK AS SUCH.

<u>20</u>\_\_\_\_%

#### **AREA "B" NORTHERN TURNPIKE FROM 92 PUMP HOUSE THROUGH DISTRICT 10** THE APPROXIMATE VALUE OF THIS AREA IS ESTIMATED AT \$8,500.00 PER YEAR

Α	В		С	D	B x D TOTAL
			DECODIDITION	UNIT	DOLLAR
ITEM	QUAN	UOM.	DESCRIPTION	PRICE	AMOUNT
			RATE FOR MILEAGE		
			TO & FROM SITE		
	000		AS PER	\$0.50	\$160.00
1.	320	MILE	SPECIFICATIONS		
			HOURLY RATE FOR		
			MECHANIC ON		
			STRAIGHT TIME		
2	30	HOURS	AS PER SPECIFICATIONS	\$100.00	\$3,000.00
2.	- 30	HOUKS	HOURLY RATE FOR		
			MECHANIC PERSON		
			ON OVERTIME		
			AS PER		
3.	30	HOURS	SPECIFICATIONS	\$100.00	\$3,000.00
			HOURLY RATE FOR		
			HELPER ON		
			STRAIGHT TIME		
			AS PER	<b>. . . . . . . . . .</b>	<b>#1</b> 000 00
4.	30	HOURS	SPECIFICATIONS	\$60.00	\$1,800.00
			HOURLY RATE FOR		
			HELPER ON		
			OVERTIME		
			AS PER	\$60.00	\$1,800.00
5.	30	HOURS	SPECIFICATIONS	φ <b>00.00</b>	\$1,000.00

# TOTAL OF LINES 1 THROUGH 5 \$ 9,760..\_

### THE PERCENTAGE DISCOUNT BOX BELOW WILL NOT BE FACTORED INTO THE DECISION FOR AWARD. THE AWARD WILL BE DETERMINED BY THE LOWEST RESPONSIVE AND **RESPONSIBLE BIDDER FOR THE LINE ITEMS BID.**

### **PERCENTAGE DISCOUNT**

PLEASE LIST A DISCOUNT OFF ANY AND ALL MANUFACTURERS LIST PRICE FOR ANY AND ALL MISCELLANEOUS PARTS NOT LISTED IN THIS BID. THE DISCOUNT WILL BE GIVEN BY THE AWARDED BIDDER TO ANY AND ALL OTHER ITEMS PURCHASED BY THE AUTHORITY UNDER THIS CONTRACT. IF BIDDING ZERO, PLEASE MARK AS SUCH. 20 %

#### AREA "C" SOUTHERN GARDEN STATE PARKWAY FROM MILEPOST 0 THROUGH MILEPOST 91.8 THE APPROXIMATE VALUE OF THIS AREA IS ESTIMATED AT \$8,500.00 PER YEAR

Α	В		С	D	B x D TOTAL
			DECODIDITION	UNIT	DOLLAR
ITEM	QUAN	UOM.	DESCRIPTION	PRICE	AMOUNT
			RATE FOR MILEAGE		
			TO & FROM SITE		
1.	320	MILE	AS PER SPECIFICATIONS	\$0.50	\$160.00
1.	320		HOURLY RATE FOR	\$0.50	\$100.00
			MECHANIC ON		
			STRAIGHT TIME		
			AS PER		
2.	30	HOURS	SPECIFICATIONS	\$100.00	\$3,000.00
			HOURLY RATE FOR		
			MECHANIC PERSON		
			ON OVERTIME		
			AS PER		
3.	30	HOURS	SPECIFICATIONS	\$100.00	\$3,000.00
			HOURLY RATE FOR		
			HELPER ON		
			STRAIGHT TIME		
4.	30	HOURS	AS PER SPECIFICATIONS	\$60.00	\$1,800.00
4.	30	HOURS	HOURLY RATE FOR	φ <b>00.00</b>	φ1,000.00
			HELPER ON		
			OVERTIME		
			AS PER		
5.	30	HOURS	SPECIFICATIONS	\$60.00	\$1,800.00

# TOTAL OF LINES 1 THROUGH 5 \$ 9,760.00

### THE PERCENTAGE DISCOUNT BOX BELOW WILL NOT BE FACTORED INTO THE DECISION FOR AWARD. THE AWARD WILL BE DETERMINED BY THE LOWEST RESPONSIVE AND **RESPONSIBLE BIDDER FOR THE LINE ITEMS BID.**

### **PERCENTAGE DISCOUNT**

PLEASE LIST A DISCOUNT OFF ANY AND ALL MANUFACTURERS LIST PRICE FOR ANY AND ALL MISCELLANEOUS PARTS NOT LISTED IN THIS BID. THE DISCOUNT WILL BE GIVEN BY THE AWARDED BIDDER TO ANY AND ALL OTHER ITEMS PURCHASED BY THE AUTHORITY UNDER THIS CONTRACT. IF BIDDING ZERO, PLEASE MARK AS SUCH. %

20

### AREA "D" NORTHERN GARDEN STATE PARKWAY FROM MILEPOST 91.8 THROUGH MILEPOST 163. THE VALUE OF THIS AREA IS ESTIMATED AT \$8,500.00 PER YEAR

A	В		C	D UNIT	B x D TOTAL DOLLAR
ITEM	QUAN	UOM.		PRICE	AMOUNT
			RATE FOR MILEAGE TRAVEL		
			TO & FROM SITE		
			AS PER		
1.	320	MILE	SPECIFICATIONS	\$0.50	\$160.00
			HOURLY RATE FOR		
			MECHANIC ON		
			STRAIGHT TIME		
			AS PER	\$100.00	\$3,000.00
2.	30	HOURS	SPECIFICATIONS	\$100.00	\$5,000.00
			HOURLY RATE FOR		
			MECHANIC PERSON		
3.	30	HOURS	AS PER SPECIFICATIONS	\$100.00	\$3,000.00
<u> </u>	30	HOURS	HOURLY RATE FOR		
			HELPER ON		
			STRAIGHT TIME		
			AS PER		
4.	30	HOURS	SPECIFICATIONS	\$60.00	\$1,800.00
			HOURLY RATE FOR		
			HELPER ON		
			OVERTIME		
			AS PER	\$60.00	\$1,800.00
5.	30	HOURS	SPECIFICATIONS	ψ00.00	φ <b>1</b> ,000.00

# TOTAL OF LINES 1 THROUGH 5 \$9,760.00\_

### THE PERCENTAGE DISCOUNT BOX BELOW WILL NOT BE FACTORED INTO THE DECISION FOR AWARD. THE AWARD WILL BE DETERMINED BY THE LOWEST RESPONSIVE AND **RESPONSIBLE BIDDER FOR THE LINE ITEMS BID.**

# **PERCENTAGE DISCOUNT**

PLEASE LIST A DISCOUNT OFF ANY AND ALL MANUFACTURERS LIST PRICE FOR ANY AND ALL MISCELLANEOUS PARTS NOT LISTED IN THIS BID. THE DISCOUNT WILL BE GIVEN BY THE AWARDED BIDDER TO ANY AND ALL OTHER ITEMS PURCHASED BY THE AUTHORITY UNDER THIS CONTRACT. IF BIDDING ZERO, PLEASE MARK AS SUCH. 20

%